
Beispiel1:	
  (lineare	
  Funktion,	
  Konstante,	
  Zunahme)	
  
	
  

	
  
Bestimme	
  die	
  Gesprächskosten	
  pro	
  Minute,	
  wenn	
  die	
  Anzahl	
  der	
  Freiminuten	
  
überschritten	
  wird.	
  
	
  
Lösung:	
  15	
  Cent	
  bzw.	
  0,15	
  €	
  
	
  
	
  
Beispiel	
  2:	
  (Abnahmeprozess)	
  

	
  
Gib	
  eine	
  Funktionsgleichung	
  an,	
  welche	
  die	
  Wassermenge	
  im	
  Tank	
  abhängig	
  von	
  der	
  
Zeit	
  beschreibt.	
  
	
  
Lösung:	
  
V(t)	
  =	
  2500	
  –	
  35*t	
  
	
  


